CSC 202





Name:________________________

Exam #1

OPEN BOOK – NO CALCULATORS
Directions: Do all work on these sheets.  Organize your work in a neat and orderly fashion.
1. [10]  Convert the signed binary number 1111 01012   to decimal form with a + or a - sign.

 The msb indicates this number is negative.   It is F5(16).  Lets 1’s complement and add 1 to
Negate the number(  FF-F5=0A+1=0B or the number is -11(10)

2. [10] Convert 0ABC to decimal.

 This is A*16^2 + B*16^1 + C*16^0 or 10*256 + 11*16 + 12 = 2560 + 176 + 12 = 2748
3. [10]  Convert decimal –4368 to its signed bit, 16 bit Hexadecimal equivalent. 

1st let’s convert 4368 to hex ( 4368 – 4096 = 272 thus far we have 1_ _ _ hex 
272 – 256 = 16 thus we have 11 _ _ hex
16 – 16 = 0 so finally we have 1110 hex     now lets take the 2s complement to negate the number

FFFF – 1110 = EEEF + 1 = EEF0
4. [20] What are the minimum number of bits required to store the following signed decimal numbers in 2’s complement form?


a)  -64

b)  -4

c) 512

d) 5

e) 65535
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3
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4

17
5. [50]  Show the hexadecimal contents of  the listed memory locations after running  the program.


ORG
$1000


$1000 _CE_
$1007 _20_
$100E _00_
START
LDX
#DATA


$1001 _20_
$1008 _00_
$100F _6C_


STX
DATA+4

$1002 _00_
$1009 _BB_

LDD
DATA


$1003 _0C_
$100A _20_
$1011 _CE_

ADDA
DATA


$1004 _20_
$100B _00_
$1012 _10_

STAA
DATA


$1005 _04_
$100C _7A
$1013 _00_

STD
2,+X


$1006 _FC_
$100D _20_
$1014 _6B_

LDX
#START





$1015 _03

STAB
3,X






$1016 _3F_

SWI


ORG
$2000


$2000 _02_
$2004 _??_

DATA   DB
1,12,0,10

$2001 _0C_
$2005 _??_






$2002 _02_
$2006 _??_






$2003 _0C_
